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1. At what age did Gandhi move to Rajkot from Porbander?

A) 8 years B) 9 years O 10 years D) 11 years
2. Who inspired Gandhi to recite Ram Nam when in fear?

A) Putlibai B) Rambha Dai

O Lakshmi Das D) Gauri Dai
3. Which of the following statements related to Gandhi’s father is incorrect?

A) Gandhi’s father had several visitors

B) He would discuss religion and politics with the visitors

C) He would carry out domestic chores such as slicing vegetables while
discussing politics

D) Visitors were provided water to drink, but no food was served

4. Which of the following statements is not correct?
A) Gandhi belonged to the Modh Bania caste of traders
B) Putlibhai belonged to the Pranami sect which integrated Islamic practices

into Hindu tradition
O Kaba Gandhi was a follower of the Pushtimagri sect

D) Kaba Gandhi was more inclined to Janism than Hinduism
5. Who wrote the book A Plea for Vegetarianism?

A) Henry Polak B) Henry Salt

C) David Livingstone D) C F Andrews
6. Who among the following did not influence Gandhi?

A) Socrates B) Cardinal Newman

C) Edward Carpenter D) Jeremy Bentham
7. When was the Natal Indian Congress formed?

A) 1893 B) 1895

C) 1894 D) 1896
8. Gandhi did ambulance work in

A) Boer war only

B) Boer war and Zulu Rebellion

C) Zulu Rebellion only
D) Boer war, Zulu Rebellion and First World War

9. Full Name of Kasturba is
A) Kasturba Kundalini B) Kasturba Makanji
O Kasturba Parekh D) Kasturba Singhania
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Who wrote the famous essay On Civil Disobedience?
A) Henry David Thoreau B) Emerson
) Leo Tolstoy D) John Ruskin

One of the important works which influenced Gandhi's economic thought was
A) The Wealth of Nations

B) The General Theory of Employment, Interest and Money

O] Unto This Last

D) Das Capital

What is the Gujarati equivalent of the term civilization?
A) Good life B) Spiritual life
@) Good conduct D) Material life

Who said this about Gandhi’s salt march: “Like the historic march of
Ramachandra to Lanka the march of Gandhi will be memorable”?

A) Jawaharlal Nehru B) Motilal Nehru
O Rabindranath Tagore D) P C Ray

Who led the volunteers in the raid on Dharasana salt depot?
A) Abbas Tyabji B) M.R. Jayakar
O Sarojini Naidu D) Sardar Patel

Order the following events chronologically: Ahmedabad Mills Strike, Champaran

Satyagraha, Kheda Satygraha, Bardoli Satyagraha

A) Kheda satyagraha, Champaran satyagraha, Ahmedabad Mill strike,
Bardoli satyagraha

B) Bardoli satyagraha , Kheda satyagraha ,Champaran satyagraha,
Ahmedabad Mills Strike

O Ahmedabad Mills Strike, Kheda satyagraha, Bardoli satyagraha ,
Champaran satyagraha

D) Champaran satyagraha, Ahmedabad Mills Strike, Kheda satyagraha,
Bardoli satyagraha

Which of the following is not a Gandhian Satyagraha technique?
A) Fasting B) Civil Disobedience
O] Noncooperation D) Bandh

Which of the following statements relating to the use of Hijrat as a Satyagraha
technique is incorrect?
A) Hijrat is voluntary migration when one is subjected to grievous oppression

B) Hijrat is advocated when one does not have the capacity to resist
oppression

O Hijrat is advisable only in extreme situations, not in ordinary
circumstances

D) Hijrat is forced migration of oppressed people
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Hard on the problem, but soft on the person denotes a ------- approach to
negotiation
A) Soft B) Hard O Principled D) Neutral

Who wrote the famous book, Getting to Yes: Negotiating Agreement Without
Giving in?

A) Roger Fisher and Johan Galtung

B) Roger Fisher and William Ury

O] Peter Wallensteen

D) Louis Kreisberg

In the ABC triangle of Conflict developed by Galtung, ABC stands for:
A) Attribution, Benignancy, Convergence

B) Attitude, Behaviour, Contradiction

O Apathy, Banality and Cooperation

D) Animosity, Bluntness and Concatenation

A conflict in which one party is stronger than the other party is known as
A) Symmetric conflict

B) Symptomatic conflict

O Asymmetric conflict

D) Asymptomatic conflict

What does hurting stalemate mean in conflict?

A) A situation in which the conflict has died out

B) A situation in which further pursuit of the conflict has become unbearable

O A situation in which one of the parties announces that it will not talk to the
other party

D) A situation in which both parties hurt each other by attacking one another
physically.

According to Gandhiji, Religion means

A) Established ritualistic religion

B) Worship of Gods

O Surrender of oneself to God

D) Ordered moral governance of the universe

Who was nominated by Gandhiji to lead the satyagrahais on the Dandi March in
the event of his arrest?

A) Jawaharlal Nahru B) Vithalbhai Patel

O Abdul Gaffar Khan D) Abbas Tyabji

Which of the following slogans is associated with the name of Gandhiji?
A) Do or Die B) Jai Jawan Jai Kisan
O Swaraj is my birth-right D) Inquilab Zindabad
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Civil Disobedience without -------- was described by Gandhi as equivalent to a
paralysed hand attempting to lift a spoon

A) Swadesi B) Swaraj

O Constructive Programme D) Sarvodaya

Military industrial complex refers to:
A) A complex of Military Industries

B) The coming together of Military personnel and Industrialists for promoting
peace

0) The unholy confluence of interests by military and industry

D) The conversion of military industries to civilian industries

Who wrote the book Sexism and the War System?
A) Cynthia Enloe B) Birjit Brock-Utne
O Betty Reardon D) Elise Boulding

Who among the following is the main advocate of the conflict transformation
approach to dealing with conflicts?

A) Kenneth Boulding B) John Paul Lederach

O James Berkowitz D) Jay Rothman

Fill in the blank portion :“My idea of village Swaraj is that it is a complete -------- ,
independent of its neighbours for its own vital wants and yet interdependent for
many others in which dependence is necessary”.

A) Republic B) Democracy

O] State D) Country

Who among the following leaders had serious apprehensions about the
introduction of Panchayati Raj in India after independence?

A) Dr B R Ambedkar B) Vinoba Bhave

O Sardar Patel D) Jawaharlal Nehru

Arrange chronologically the following three events
1. Chauri Chaura incident 2. Champaran Satyagraha
3. Founding of Ashram at Ahmedabad

Which of the following traits was not found in Raichandbhai by Gandhi?

A) Ability to memorise and produce words in the order in which they are
recited

B) Wide knowledge of the scriptures

O Ability to speak several languages

D) Although married, ability to live like a Sanyasi
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Which of the following is not a book/booklet written by Gandhi?
A) Satyagraha in South Africa

B) From Yeravada Mandir

O Key to Naturopathy

D) Constructive Programme : Its Meaning and Place

The path of Gita for Gandhi was ----------

A) Contemplation

B) Dispassionate action or Nishkama Karma
O Total detachment from the burdens of life
D) Devotion

The first Ashram Gandhi established was called
A) Kochrab ashram B) Satyagraha ashram
O Swaraj ashram D) Sarvodaya ashram

Gandhi said: “Today, supposing I was deprived of the Gita and forgot all its
contents but had a copy of ........ , I should derive the same joy from it as I do
from the Gita".

A) The Sermon on the Mount

B) The New Testament

) Kingdom of God is Within You

D) Unto this Last

Which of the following is not an ashram vow?
A) Removal of untouchability B) Equality of all religions
O Practice of trusteeship D) Bread labour

Who persuaded Gandhi to write an autobiography?

A) Swami Anand B) Jawaharlal Nehru

O Sardar Patel D) Mahadev Desai

From whose book did Gandhi come to know the extent of India’s poverty first?
A) R C Dutt B) J C Kumarappa

O Dadabhai Naoroji D) Dr B R Ambedkar

Which of the following points did not figure in Gandhi’s summary of Ruskin’s
book Unto this Last?

A) The good of the individual is contained in the good of the majority

B) A lawyer’s work has the same value as the barber’s

O A life of labour is a life worth living

D) The good of the individual is contained in the good of all

Which of the following ones is not one of the seven social sins that Gandhi
seemed to have endorsed?

A) Wealth without work B) Knowledge without character

C) Worship without conscience D) Science without humanity



43.

44,

45.

46.

47.

48.

49.

50.

Which of the statements relating to Gandhi’s trusteeship is incorrect?

A) The rich will be left in possession of their wealth, use what is essential
and act as trustees of the reminder

B) Trusteeship corresponded with the principle of nonviolence

() Trusteeship recognized the right to equal opportunities on the basis of the
belief that all had the same abilities

D) If the rich were unwilling to become trustees, nonviolent noncooperation
against them could be possible.

Who popularized Gandhian economics with his slogan ‘small is beautiful’?
A) E F Schumacher B) Bharathan Kumarappa
O Michael Schumacher D) J C Kumarappa

Which of the following statements does not correspond to Gandhi’s view of
human nature?

A) Human nature is inherently good

B) All human beings have a divine element in them

O Some human beings are inherently bad

D) Human frailties can be improved through education

Who said “Gandhi is inescapable. We may ignore him at our own peril”?

A) Albert Einstein B) Martin Luther King Jr.
O Barak Obama D) Nelson Mandela

Who made the first reference to Gandhi as a Mahatma?

A) Rabindranath Tagore B) Dadabhai Naorji

O Dr. Pranjivan Mehta D) Gokhale

Which monastery did Gandhi visit before setting up his Phoenix Settlement?
A) Monastery of St Nektarius

B) Mariyau Mamawe Themba Monastery

O Marianhill Monastery

D) Monastery of the Descent of the Holy Spirit

Which of the following statements does not agree with Gandhi’s notion of truth?
A) Absolute truth can be known by man

B) God alone knows absolute truth

O Relative truth is all man can know

D) We can only follow the truth as we see it.

Who submitted a charter of rights for Gandhi’s endorsement to which Gandhi
replied "Begin with a Charter of Duties of man, and, I promise, the rights will
follow as spring follows winter"?

A) H G Wells B) C F Andrews

O Herman Kallenbach D) Henry Polak



51.

52.

53.

54.

55.

56.

57.

Which of the following statements relating to Gandbhi is not correct?

A) Gandhi was a believer in advaita

B) Gandhi believed that if one man gains spiritually, the whole world gains
with him

() Gandhi did not concern himself with urban affairs

D) Gandhi drew a distinction between economics and ethics

Which of the following statements relating to caste and untouchability is incorrect

with respect to Gandhi?

A) Gandhi called untouchable Harijans

B) Gandhi believed that untouchability had no divine sanction

C) Gandhi saw the four fold varna system and the four fold caste system as
identical

D) Gandhi founded Harijan Service Association in 1933

Which of the following is not a criticism against Gandhi’s views on caste and

untouchability?

A) Gandhi’s calling of the untouchables ‘Harijans’ is paternalistic

B) Non-Dalits cannot emancipate the Dalits even if the former have good
intentions

O Gandhi’s attempt to distinguish between the varna system and caste system
is unrealistic and unconvincing

D) Gandhi discriminated against the Dalits in the ashrams

Which of the following women’s organizations has a distinctly Gandhian
influence on it?

A) Self-Employed Women’s Association

B) All India Democratic Women’s Association

O Indian Harijan Women’s Association

D) All India Women’s Khadi Weavers Association

Who is the author of the book The Power of Nonviolence (1935)?

A) Krishnalal Shridharani B) Richard Gregg

C) Gene Sharp D) Jean Bondurant

Which of the following leaders drew on Christ and Gandhi in shaping nonviolent
struggle?

A) Nelson Mandela B) Cesar Chavez

O Betty Williams D) Martin Luther King Jr.

Communalism was identified by Gandhi as a phenomenon found in
A) Rural areas

B) Both urban and rural areas
0) Urban areas only
D) Urban and semi-urban areas
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What action did Gandhi say he would first do, if he was appointed a dictator for
one hour for all India?

A) To close without compensation all the liquor shops

B) To make primary education compulsory

) To nationalize enterprises of individuals who refuse to become trustees

D) To close down all brothels

Laurie Baker was a practitioner of
A) Yoga

B) Naturopathy

O Alternative Energy

D) Appropriate Technology

Which report defined sustainable development as “development that meets the
needs of the present without compromising the ability of future generations to
meet their own needs”?

A) Human development Report 2011

B) World Development Report

O Brundtland Report

D) Global Sustainable Development Report 2015

Swachh Bharat Abhiyan portrays the logo of the spectacles of which Indian leader
A) Mahatma Gandhi B) Dr B R Ambedkar
O Sardar Patel D) Subhash Chandra Bose

Who said: "Gandhi's very vocabulary, in its exaggerated idealization of women as
'sisters of mercy' and 'mothers of entire humanity' reveals the bias of a benevolent
patriarch."?

A) Madhu Kishwar B) UshaThakkar

O] Sujatha Patel D) Vandana Shiva

Which of the following is not a part of the Constructive Programme of Gandhi?
A) Communal unity

B) Rehabilitation of Physically Handicapped

0) Khadi

D) Education in health and hygiene

Which of the following statements relating to health and palate is not attributed to
Gandhi?
A) Control of the palate is very closely connected with the observance of

brahmacharya

B) Food has to be taken as we take medicine in quantities limited to the needs
of the body

O One who gives up a multitude of eatables will acquire self-control

D) Ideally, we should be able to eat everything uncooked
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What does Gandhi mean by spiritualization of politics?

A) To bring more religious leaders into the sphere of politics
B) To begin all political activities with a prayer

O To introduce morality into politics

D) To use religious symbols in politics

The concept of trusteeship flows from the ideals of
A) Aparigraha and Ahimsa

B) Swadesi and Swaraj

O Dharma and Karma

D) Satyagraha and Constructive Programme

Which of the following authors did not write about Gandhian economic thought?

A) J D Sethi B) Romesh Diwan

O Margaret Chatterjee D) Amritananda Das

Who among the following is an exponent of the idea of ‘total revolution’?
A) Vinoba Bhave B) Jayaprakash Narain

O Ram Manohar Lohia D) J C Kumarappa

Gaura Devi is associated with the

A) Narmada Movement B) Apiko Movement

O Chipko Movement D) Right to Information Movement

Sarva Dharma Sama Bhava means

A) Equality of all religions

B) Equality of Religions and Equal Respect for Religions

C) Equality of all ideologies and viewpoints

D) Equality and equal respect for all ideologies and viewpoints

Who translated Gita into English with the title Song Celestial?

A) Mathew Arnold B) Edwin Arnold

O John Arnold D) Arnold Schraseinberger
Peace is the absence of personal, structural and ----------- violence
A) Indirect B) Emotional

C) Cultural D) Psychological

Who defined violence as a situation in which the actual somatic and mental
realization of an individual is below his potential realization?

A) Johan Galtung B) Kenneth Boulding

C) Thomas Weber D) John Burton

Peace Studies is

A) The study of the causes of violence and the conditions of peace
B) The study of war and peace treaties

O The study of why people engage in violence

D) The study of the statistics relating to wars
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Who wrote the book Functions of Social Conflict?

A) Johan Galtung B) Lewis Coser

O Franz Fanon D) Max weber
Who among the following is not a peace educator?

A) Pierre Bourdieu B) Frederik Froebel
O Maria Montessori D) Pestalozzi

What is facilitated problem solving?

A) It is a workshop method of discussing a conflict in an academic setting
facilitated by Professors

B) It is facilitation of direct negotiations by the parties by experts by
providing a neutral venue

O It is a type of third party assisted mediation in which the third party
actively involves in the outcome of mediation

D) It is talks between parties with assistance of the UN or other international
agencies

Which of the following is not one of the qualities required of a mediator?

A) Comprehension ability B) Good drafting skills
O Good analytical skills D) Good memory
What should be the role of a lawyer according to Gandhi?

A) Litigator B) Mediator

O Arbitrator D) Adjudicator

Who was the Chairman of the South African Truth and Reconciliation
Commission?

A) Desmond Tutu B) Tabo Mbeki

O Fatima Meer D) Oliver Tambo

Lanza Del Vasto is associated with the

A) Community of ark B) Commune system

C) Worker cooperatives D) Migrant cooperatives

Which is first State to constitute Gram Sabha at the level of each ward?
A) Kerala B) West Bengal
O Uttar Pradesh D) Karnataka

Which was the state to introduce 50% of reservation for women in local bodies
first?

A) Bihar B) Uttarakhand

O Kerala D) Madhya Pradesh

Tiananmen Square is known for

A) Student protest in Egypt B) Student nonviolent protest in China
O Student protest in Philippines D)  Student protest in Tunisia

10
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Who among the following is not associated with organic farming?

A) Gandhi B) Subhash Palekar

C) Masanobu Fukuoka D) Norman Borlaug

Irom Sharmila is from

A) Meghalaya B) Mizoram

O Nagaland D) Manipur

Which of the following movements was against a missile testing centre?
A) Koodankulam B) Baliapal

C) Chipko D) Nandigram

Which of the following statements relating to Nyaya Panchayat and  Gram

Nyayalaya is incorrect?

A) Nyaya Panchayat and Gram Nyayalaya are village level courts with judges

B) Nyaya Panchayat has elected members deciding on disputes unlike Gram
Nyayalaya

O Nyaya Panchayats do not have lawyers’ presence in them unlike Gram
Nayaylaya

D) Nyaya Panchayats draw on customs and traditions to settle disputes unlike
Gram Nyayalaya which has an element of professionalism about it.

Which of the following statements about Gandhi’s views on education is
incorrect?

A) Education is the art of drawing out full manhood of the children

B) Education should focus on teaching an occupation only

C) Education should be imparted through the local language

D) Education should lead us to discriminate between good and bad

Which of the following organisations was not established by Gandhi?
A) Hindustani Talimi Sangh

B) The Village Industries Association

O All-India Spinners' Association

D) Bahishkrit Hitakarini Sabha

Which rural development programme is named after Mahatma Gandhi?
A) National Rural Employment Guarantee Scheme

B) National Rural Livelihoods Mission

O Providing Urban Amenities in Rural Areas

D) National Health Mission

How many goals are there in the Sustainable Development Goals that succeeded
the Millennium Development Goals in 20157

A) 12 B) 14

0) 15 D) 17

11
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Which of the following statements relating to Swachh Bharath Abhiyan is not
correct?
A) It aims to achieve an Open-Defecation Free (ODF) India by 2 October

2019.

B) It aims to construct as many as 12 crore toilets in rural India

O An amount of 90 billion was allocated for the mission in 2016 Union
budget

D) Actor Suresh Gopi is one of the persons selected to propagate the
campaign

Which of the following statements relating to Arab Spring is incorrect?
A) Arab Spring began in Egypt

B) Facebook, Twitter and other major social media played a key role in the
movement

C) Four governments were overthrown as part of the events

D) It was a combination of violent and non-violent protest

Which of the following statements relating to swadesi is incorrect?

A) Swadeshi is that spirit in us which restricts us to the use and service of our
immediate surroundings to the exclusion of the more remote.

B) Service of immediate neighbours is its focus

C) Religious conversion does not agree with the principles of swadesi

D) Swadesi postulates the absence of all forms of international trade

Gandhi said “ideally the non-violent state would be an ordered............
A) System B) Anarchy
O Scheme of things D) Arrangement

Which of the following is not a feature of Gandhian economics?
A) Limitation of wants

B) Full employment

O Vehement opposition to machinery of all types

D) Rural-oriented, manual labour- focused economy

Which commentator developed nonviolence as a policy rather than a creed?
A) Rajmohan Gandhi B) Gene Sharp
O John Galtung D) Geoffrey Ostergaard

What terms did Gandhi use to refer to the British Parliament?
A) Prostitute and pregnant woman

B) Prostitute and sterile woman

O] Castrated man and sterile woman

D) Crafty woman and market place

Who among the following did not influence Petra Kelly, the leader of the Green
Movement?

A) Thoreau B) Martin Luther King Jr.

O Gene Sharp D) Leo Tolstoy
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Who said: ‘It was my fate to be the antagonist of a man for whom I had the
highest respect.’?

A) Jan Christian Smuts B) Louis Botha

) John Dube D) King George V

Which of the following is not a key element of Gandhian economics?
A) Swadeshi B) Bread labor

O] Aparigraha D) Mass production

Which of the following Peace Institutes has been set up by a Government?
A) US Institute of Peace

B) Stockholm International Peace Research Institute

C) Peace Research Institute Oslo

D) Tampere Peace Research Institute

Which professions emerging from modern civilization were particularly targeted
by Gandhi in Hind Swaraj?

A) Lawyers

B) Lawyers and Doctors

C) Lawyers, Doctors and Psychologists

D) Lawyers, Doctors, Psychologists and Architects

What is the role of self- suffering in Gandhian Satyagraha?

A) To awaken in the opponent a sense of common humanity that will prompt
a desire for a peaceful resolution.

B) To atone for the sins of the opponent

O To elicit sympathy from the spectators and the media

D) To purify oneself as a first step to resolving the conflict

In which year did Gandhi write a document advising Congress to disband itself
as s political organization and involve in social service?

A) 1946 B) 1947

C) 1948 D) 1945

Gandhi said power can be obtained through two means. What are they?
A) By threats and incentives

B) By the fear of punishment and by acts of love

) By brute force and by law

D) By wealth and by force

Which of the following statements does not agree with Gandhi’s views on means
and ends

A) Means may be likened to a seed and the end to a tree

B) One has control over the means, not the end

O Means are after all everything

D) As the end, so the means

13
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Which of the following statements on Panchayat Raj does not agree with the

Gandhian vision?

A) Panchayat Raj should always be established by the government through
legislation

B) Panchayats will have five elected persons from the local community

C) They can be removed and substituted by another set after 6 months if they
fail in their duty

D) Besides civic functions and production of necessary goods, the panchayat
will serve as a dispute resolution mechanism

Gandhi’s approach to conflict envisaged

A) Step by step diffusion of conflict

B) Immediate aggravation of conflict

O Exploiting the weakness of the adversary

D) Withholding information about the strategies to be adopted in order to
confuse the enemy.

Gandhi had envisaged
A) Bilateral Disarmament B) Unilateral disarmament
O Multilateral disarmament D) Selective disarmament

Which Gandhian activist believed that Satyagraha methods should not be used
against the National Government during the emergency?

A) Siddharaj Dadda B) Sadiq Ali

O Vinoba Bhave D) Morarji Desai

Which village in India has become a sustainable model known for its use of non-
conventional energy?

A) Pochampalli B) Hiware Bazar

O Mawlynnong Punsari D) Ralegan Siddi

Which of the following is not a feature of forgiveness?
A) Forgiveness presupposes that the person forgiven expresses sorrow for the
violence committed

B) Forgiveness does not envisage forgetting
O Forgiveness does not seek revenge
D) Forgiveness seeks renewal of genuine human relationships

What does Khudai Khidmatgar mean?

A) Children of God B) Sheep of God

C) Servants of God D) Followers of God
The Hebrew word for peace is

A) Salam B) Shalom

O Eirene D) Ping
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Gandhi was described as a transformational leader. Such leaders are inspirational,
trustworthy, and charismatic role models who lead by -------

A) Intelligence B) Being influenced entirely by the led
O Example D) Exercising domination

Who published in 1944 a Gandhian Plan for the economic development of India?
A) Shriman Narayan Agarwal B) J C Kumarappa

O Ashok Mehta D) Jayaprakash Narain

The State represents violence in a and form.

A) most entrenched and visible B) crude and hurting

O coercive and intimidating D) concentrated and organized

Which of the following leaders did not involve in the Narmada Bachao Andolan?
A) Medha Patkar B) Baba Amte
O Sunderlal Bahuguna D) Arundhati Roy
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